ﬂ.%ﬁhWﬂMdWIM?
- {I}Thyhdmthnughtﬂnrmlhnlh

protect them
ﬂ}hﬁhﬁwuﬂihmwdﬂmufmﬁng

(3) He had weapons to defend himself

{4) Mahadev's family was not as large as Mihir's
(5) Mone of these
. How did the villagers. react io Mihir"s newfound
wealth 7

{ 1) They tried hard to coax him to reveal the secret of
his wealth :

(2) They followed his example and became more
devout

(3) They pretended to be happy for him butl were
secretly jealous

{4) They each plotted o visit the tree and get rich
quickly

(5) None of these

Directlons (51-53) : Which of the following (s most

similar in meaning to the word given in bold as used

in the passage.

51. MAKE

" (1) eam (2) estimate

(3) prepare (4) build
(5) settle

51. LOST
{1} defeated (2) failed
{3 foreited {4) wasted
(5) destroyed

53. GATEWAY
(1) boliday {2) freedom
(3) fantasy (4) escape
{5) relaxation

Directions (54-55) : Which of the following is most
MHmfuaﬂhnwgmnhﬂuud

in the passage.
54. REHEARSED -
(1) repeated (2) forced
(3) fake (4) unplanned
(5) effortless
55, WILLING
(1) oblige (2) reluctant
(3) distracted (4) determined
(5) obstacle

Directions (56-60) : Read each sentence to find out
whether there is any grammatical érror or idiomatic
error in it. The error, if any, will be in one part of the
sentence. The number of that part is the answer. If
Ihnitmm‘;rw.l;emil {3} (Tgnore erros of
puncruation, {f any,

§6. The majority of the population believes (1)/ that the
stock market is recovered (2)/ and that it is the (3)
right time to buy shares. (4)/ No Error (5) \

1

£7. Seema’s new office is close (1) to her residence so
{2)/ she will not longer (3)/ have to travel by train. (4)
No Eror (5)

58. In the present guidelines, (1) the bank is required to
obtain (2)/ a photograph from any person (3)/ who
wishes to open a account. (4)/ No Error (5)

' 59. As our economy is (1) experiencing a recession,
banks (2)/ have became very cautious (3) about
giving loans. (4)/ No Emor (5)

60, After retiring she spent (1)/ most of her time teaching
yp-g(!}fdnm:mdmnunﬁqmmehﬁﬂym
work in rural areas. (4)/ No Eror (5)

Direections (61-65) : In each question below a
sentence with four words printed in bold type is given.
These are numbered as (1), (2), (3} and (4). One of

sentence. Find out the word which is wrongly spelt or

inappropriate if any. The number of that word is your

answer. [ all the words printed in bold are correctly
spell and alvo appropriate in the context of the '

Sentene, mark (3) i.e. ‘All correit’ as your ansvwer.

He was a member (1) of the original (2) committec

which drafted (1) these recommedations (4). All

Comect (5)

62. Domtpunit{l}wﬂhﬂ::tr-lhrﬂ]nfﬁmds
until you receive further (3) Iﬂtr'ldim (4). Al
Correct (5)

63, Our branch is located (1) in a remote (2) area where
water is scarcity (3) available (4). All Correct (5)

64. To gain (1) their support (2), you must convenlence
(3) them of the benefits (4) of the proposal. All
Correct (5) ;

65. The deal we negotiated (1) has not been approved (2)
by REI and needs (3) to be revized (4). All Correct (5)
Directions (66-70) : Which of the phrases (1), (2), (3)
and (4) given below should replace .‘icp.ﬁrnmmn
in bold in the following sentence to make the septence
Sentence is correct as it is and mo correction ix
required, mark (5) as the answer.

66. Ensure we have the necessary clearance is the
responsibility of the legal department.
(1) Ensuring we have
{2) To ensure having
{3) We have been ensured
{4) Ensuring us having
{5) No correction required

. They have decided to go ahead and implement which
was discussed at last month®s conference in Chennai,
{1) what we had distussed
{2} whatever discussion
{31 that beine discussed

61.

L LR

warl? 1o ae
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(4) what they had discussed .
(5) None of these [
: 68. Tam:mmlhmﬂdmphuurmm !
by much efficient onc. . |
(1) through more efficient (2) efficiently by !
(3) with & more efficiént  (4) for betier efficiency |
.5} No correction required ! |
Staff in the district offices can easily monitor |
whether the payments are being made in time. J
. (1) easily be monitored  (2) monitor easier whether
(3) easy to monitor that  (4) monitor casily |
(5) No correction regired |
Most of the managers wham involved in the deal had !
previously worked for multinational banks. |
(1) whose invalved (2) involvement with |
(3) imvolving whom (4) involved in
(3) Mo correction regired
Directions (71-80). In the following passage there
are blanks, each of which has been numbered. These |
numbers are printed below ﬁ'ﬁpﬂmfﬂrﬂml
. each, five words are suggested, one of the which fits
the binak appropriately. Find out he appropriate
word in each care. :
One rainy day while driving me home from school mry
father stopped to offer a frail old man a lift. Though he
was headed in the opposite (T1), my father insisted.

land can be lost in a war but he possesses knowledge
which can never be stolen.” “The old man was my
teacher.” my father concluded.

I bave never forgoiten the lesson my father, *taught’

By the time we (T2) home it was late and | was tired
' and (73) with my father. |
That night, my father (74) me o bedtime story as |
usual—A (75) Emperor was once asked “Sir, while |
you (76) rich and powerful, your teacher doesn't even
'fmlpimeuflmdyﬂ}wvi_dthn.{mum‘!wu
summon him o court. 7"* The Emperor (79) and said,
“You are mistaken, my teacher is (80) than | am. My |

FEST-11 : O

Directions (81-95) : What will come in place of the |
guestion mark (7) in the following guestions”

81. 54671 — 14456 - 33466 = 7
(1) 6794 (2) 6745
(3) 6748 (4) 6744 i
{5) None of these
82. 5220+ 7x 15=2175
(1) 36 (2) 32 .
M M (4) 38
(5) None of these
8. J1764 +22=7
(1) 8 (2) 4096
(3) 64 (4) V64

8% Manme nf these

ANTITI

me that day.

TL. (1) route (2) manner
5 (3) direction (4) side
(5) way
TL (1) left (2) arrived
(3) retumn © . (4) gone
(5)reach
73. (1) complained + (2) annoyi
(3) hungry (4) mn;?' v
(5) worried -
74. (1) taught " {2) described
{3) told * 4) reads
(5) related
75, (1) greedy (2} honest
(3) foolish (4) mighty
(5) ensel -
T6. (1yare (2) being
(3) were {4) so
(5) scem
77 (1) own (2) carn
(3) acquire {4) possesscd
_ (S)has
T8 (1) however (2) but
(3} instead (4} when
(5) why
9. (1) shouted (2) sillent
3) thinks (4) smiled
(5} prayed
80, g;mﬁu (2) wise
wealthy (4) stronger
(5) richer . E

ATIVE APTITUDF
B4 125%32x B8=7
1) 358 (2) 355
(3) 354 (4) 356
(5) None of these
85. (16)" x4’ + 1024 = (4)"
(n3 . (2) 4 (3) 5
(4) 6 (5) MNone of these
B6. 84+ 12+0.8=7 :
(1) 7.75 (2) 9.85
(3) 875 : (4) 10.15
(5) None of these
B7. 22% of 7 + 166,64 = 340 y
(3 784 ° i4) 792.

information djust for reference. It
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() 229 ‘@) nn
(3 2 {4) 1227
(5 None of these
B9, 45%0r 816 - 2ol 7T=240.7
(1) 525 {2) 340
(3) 550 i4) 560
(1!} h:-m;l'm
.9 Zof- of -
‘d}dsdm 7
{_l] R - ) 712
{3y 757 + (4) T53
lgl ?':Elnfh
’l. — i —— -
13 lj!! ?
. 7
1) = -
(1) l_’. [#1] 1“
; 7
3) 1— -
" 17 “@ III
(%) Noae of these
4 5 2
n 5"?5*15.?
i ¥
() 2= -
) s m‘j.
2 |
(11] !! ) 2‘3
(%) Noue of these
9. Jbhx M)+ Y+ 50=Tu?
{1 17 @) 729
(3) =27 (4) -729
(5) None of these
B 25631 ¢ 14423229 = T w S0
(1) 4788 (2) 41944
[3) 47333 (4) 47455
15) Nows of these
95, 8% ol 680 -7 =687
(n 513 ) 217
i)} 554 i) 572
(%) Mose of theie .

96. The sverape age of Nitika and Knuti is 21 years. The ratio
of their ages 18 4 3 respoctively, What s Knuti's age?

(1) I yemrs (2) 24 yeary
(3} 26 years (4) 16 years
(%) Nome of these

97. Sumil sold an astigue Nower vase to Vinay at 1%
mure than the cost price. 1T Vinay paid T 17,696/« for

We are providing piece of information FJust

the vase what was its ongisal cost price”
(1) ¥ 15,5000 (2) € 15,5200
(1) ¥ 15800 {4) T 1535200
(%) ‘Nose of these

98, Find the average of the following set of scores -
M, 89, 17, 144, T, 240, 128, 9B

(1) 104 ) 108
{3 104 4 1
(5) None of these

9. What would be the composnd inserest obtained nn a
amaant of T 8 800/~ st the rate of 16 ps.pa after

|

yeinT

(1) TI04] 25 (2) TI01420-
() 3044 600 4) T3.041.20.
(%) Nane of these

100. The samn of 35% of a number and 12% of the sam
mumber is 3055 What is the 7% of that number?

(1) 4685 () 46x0
(3) 4475 (4) 4670
l (%) Nome of these

100. Whar is the least pumber that can be added 1o 1500 &
muke it & perfect square?  ©
(1) 200 ) 169
3 100 4) 23
(5) None of thess

182. 12 women slone can compdeic of L]
“l_dﬂlh‘h .:- -~

the same plece of wark in 10 days. hhm
<an 3 children complctc the same prece of work?

(1) 10 days {2) 2 dayn
(3) S doys (4) X days
(5) Nooe of these

103, The cost of § sharpenens and 14 pencils is T $4/- What
would be the coat of 13 sharpeners and 42 pencils®

() . @Mew.
(3 Tise- 4) T16a.
(3) Noor of these '

1. The average of four consecutive even mumbers P, ), R
and § respectively is 55. What is the prodect of Q and §7
(1) 3 (2) 3135
(3) Mn () 328
(5} None of these

168, A wuck covers a distance of 420 kins. in & cermin
amount of tame 8¢ the speed of 70 kmahr. What is the
average speod of the bike that oevels & dismance of 16

kms. less than the ruck tn the xame time?
(1) 62 loms. B (2) &4 ks hr.
(3) 66 kms. . (4) 68 kims./hs,
(%) Nome of these
for reference. It may wvary from Official
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1151320 3658 B7.F 0. 1

106. What is the arca of the circle whose circumfierence is N miia’
ey (3)133 @123
(1) 5544 sq. cms. (2) 5454 sq. cms. ) s
(1) 5540 sq. cms. (4) 5548 sq.cms. None Q1150 RN 5iep
£)<le stiee : loss of . thmwmm;
107. Kiran sold an item for T 8,160/- and incurred a loss : i ety
lmehllpriushnuHuhnhwan the item o | Distance » mhﬁr
have gained a profit of 25%? | different trucks
(1) ¥ 12,200/ (2) T 12,300/ | eoe
(3) T 13,000/~ (4) Cannot be - -
(5) one of these <3 _
108. Wﬁltmmmrﬂbﬂm:m* | Im
(?) im the following question? .| =300
mﬁ-- - ?5 : L 200
45 (" R* % ]
(1) 25 (2) =15 i “‘l
{3) 23 (4) 17 4 o u 5 . . ;

(5) MNone of these :
109. There are 360 students in a class out of which 35% are day
scholars, How many days scholars are there in the class?

(1) 128" 2) 122 .
(3) 124 (4) 126
(5) Mone of these \
110. In an e¢xamination it is required to get 55% of the
te marks to pass. A student got 340 and was
declared failed by 5% marks. What are the maximem

-,

aggregate marks a student can get?
(1) 650 (2) 660 2
(3) 680 (4) cannot be determined

(5) Mone of these
Directions (111-115) : What should come in place
of the question mark (7} in tNhe following mumber

series?
111. 9 41 57 &5 69 'y
(1) 713 (2) 75
(3 72 (4) 76
(5) None of these
112 7 10 16 25 37 T
(1) 55 (2) 52
(3) 51 (4) 57
' (5) None of these
113. 430 422 355 e o § RE |
(1) 208 {2) 210
(3) 209 (4) 206
{5) None of these
114. 9 1527 51 99 7
(1) 165 (2) 195
(3) 180 {4) 190
(5)MNone of these .
re providing plec o inrormaclo UsStT L

Trucks
116. What is the respective ratio of the distance mavelle
by Truck A to the distance travelled by Truck [3?
(1 17:19. 1115
(31917 #1511
{5) None of these
117. What is the average distance travelled by all th
Trucks together?
(1) 510 km
(3) 425 ki
(5) None of these :
118. If Truck A covered the given distance at the averag
speed of 47.5km'hr, what is the time taken by it «

(2) 515 km
(4) 475km

(1) 12 hrs (2) 10 hrs
{3) 8 hrs {4) 6 hrs
{5) None of these

119. The distance travelled by Truck E is approximately
what percent of the total distance travelled by Truck

and C together?

(1)38 (2) 60
3) 5 {4) 62
{5) 55

120. If the time taken by Truck C to cover the given
distance was 8 h ours, what was the average speed of

. the truck?
o uﬁm {2} 65.25 km/hr
2.25 km/hr (4) 68.75 km/hr
of these
Brancea It may 3 from Officia
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are providing piece of

(121-125): the following information
manmenﬁ?::mqmm
D, E,F, G and H are sitting around a circular
ﬁﬁghmwmumlyh:mm
« C sits third to right of E
= G sits second to left of H
o H is not an immediate neighbour of E and C
» Fand A arc immediate neighbours of each other
o Only one person sits between F and B
121.  Four of the following five are similar in a certain way
based on their position in the seating arrangement |
Which of the following does not belong to that group? |

(IYEH (2)CF L
(3)AG (4) BD
(5) HG .

122. Who amongst the following represent the immediate
neighbours of 0 7 -

(HEH 21C, G
(3)HF. B (4) H.G
123, What is the position of A with respect 1o G in the
above arrangement ?
{1} Third to the right (2) Second to the left
(3) Fifth to the right (4) Immediate right
(5) Third to the left

124, What will come in place of the question mark (7) |
according to the above seating ammangemeni ? |

EF CG HB FA 7
(HGD (»caG
(3) GH (4) BH
(5 CD
125. Who sits to the immediate right of A ?
(HE 2C
(36 (4)F
(5D
Directions (126-130) : Snudy the following arrangement
carefully and answer the questions given below: i
64 25285264139181258635149473272
59
126. How many 4s are there in the above amangement,
each of which is immediatcly preceded by a digit
which has a numerical value of more than four ?
(1) Mone (2) One
(3) Two (4) Three .
(5) More than three .
127. Which of the following is seventh to the left of the

twentieth from the left end of the above armangertient? |

information Jjust for ref

(3)2 @
51,
128. If all the even digits are deleted from the abon

armangement, which of the following will be tent
from the right end of the arrangement ?

(e (2)5
(31 %3
. 7
| 129. How many such 5s arc there in the above arrangemer

each of which is immediately preceded by an odd dig

and immediately followed by an even dign ?
(1) Noae (2) One

{3) Two (4) Three

(5) More than three

130. How mamy sych 1s arc there in the abov
arrangement. each of which is immediately precedes

by a perfect square 7
(1) None {2) One
(3) Two. (4) Three
(5) More than three
* Directions (131-135): Study the following informurno
to gnywer the given guestions :

In a cértain code “ring a bell” is written as *S B 2, *diq
not ring” i writien a5 *3 5 9° and ‘not a reason’ |

© wrttenzs*7 29

131, Which of the following represents *did not® ?
(123 @29
HIs )52
(593

| 132, What is the code for *bell’” ?

T s 2)8
(3)2 7
(5) None of these

133, What docs 2’ stand for ?
(1) ring =i i T
(3) bell (4) reason
(5) not

134, What does *T" stand for 7
{H not (2)a
(3) nng (4) reason
(5) Either *a" or “not’

135. What is the code for ‘ring’ ?
(1)8 (22
(335 43
(59

Directions (136-140) : Following quesiions are base
on the five three digit numbers given below.
219 742 936 587 8%3 :

136. If all the numbers are armanged jnydescending-orde
ﬁmum.ﬁuwmdhﬁmhﬂmﬂhm
from Official o

erence. It may wvarwy



A first and the second digs of the mamber
\mmhuﬂmﬁ-ﬂ

0L ) 28

aﬂhmmt:h and two i

subtracted from thind digit of cach of the mombers.

What will be the difference hetween the first dignt of

the highest pember snd the thind digit of the lowest

b

(s 24

13)5 2

151

What will be the fesalune if thind of the hagheal

nusnher is divided by the fira of the lowest

usmber™

{ly1s (#{F

m3 ()4

nl

1f the poitions of the firmt and the thind of ¢ach

ol the murnt=ers are what will be sam of

all the digies of the second highest mumber thus

formed 7

()20 e

(31s (413

g:uuu-w-h-nrh-i— ged in
wre

m*“ﬁﬂ.ﬂ-‘d’ﬂ

following will form the lowest number in the new

arrangeenent of numbers

(1219 )42

3) 96 | 4) 387

{5y 833

" h‘ T

@ Qsits thard 0 right of T. W sits second 10 right of Q.
o Vand R are smsmedsste npighbours of each other, V'
w ot an immediote netghbour of T,

~# Unly one person sits botwoen 5 and P

(3RO |
5 Ps ; |
. How many persons sil between Rand P? [
(1) Nume {2) Ong

) Two Theree
g' v 4)

e providing piece

140 Which of the following pairs sits at the extreme
corners of the line 7 2

(HRW @57
(HW.Q LR
ms"w -...' I 5
i gl
Ercond 1o
(3) memediste right (4 Fourth o th e
(5) hmmediatc left

S, Il the made 10 st m alphiadntnal ondir from
gt %o the posisions af how many will rensn
unchanged as compered W the odiginal scating positioes *
(1) Nome © (2) One
g;‘hu (4) Three
Four
Directions (146-139) : In eoch guertion below are
oo statermarnis followed by two conglisions mumbered
Fawd 11, You have to sake the two given ssgiements i
be tree evem | they soem 1o be @t variance flom
commanty ksown facts and then decide which of the
Give snswer (1) if oaly conchusion | follows.
Give smiwer (2) if only conclusion Il follows. .
s mnwwer (1) if elther conchmion | o conclusion 1l

™ Giive aniowes €4) if melter conchusion | nor conclusion
N follows, :
Give answer (3) 1f both conclusson | and conchusion
1 falbow '

146, hl“i-mh“
ar baamgabiws. £

Lﬂhﬂh—h' 1

11 There is & possibality Mw-i-h arc ncither
148, Statements : All peas are inks. No ink is sn ernser.

Conchusiva :

1. No pen is an ermer.

1. S etasers are pens.
149, Statenvents ; Sorme muin e buscs All wans are shups.

[
é.ﬁlﬁnhﬂ
All those trains if these are buscs are alwo shups.

180, Statements : S s ane Al dagts are words,

e ek

numbers being words i a ¢
L. All digits being mambers is 8 possibaity.



Dirccthons (151-160) : In aach of the questions givem below which
ﬂ#*mh-h*fhﬂwm“_#‘dmwhﬂﬂm
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FEST-V

181, The term “markoting mix™ doscribes:

{1) A composite analysh of all saviroamental factor
inside and cutside the firm
(2) A senies of business decisions that nid in selling a

pruduct
(3) The relatiomship between a flrm's masketing
stremgihs and s business weaineses

(4) A blending of fossr stratogs ehoments to satisfy |

specific mrger markes
(3} The range of products that is affered for sale

I4L. A value chain in marketing is:

=

(1) an operator of duscount stores with many hranches

(1) a factory cutlet store

(3) a process by which goods gain value as they pass

) by .:"' valse
Prouess companies -;,: .

(%) Nome of these '

{4) Mewmilers

(5) Nane of these :

Delivery Channel nsans—
; (1) matermily wards

{2) handing over the produces. o the boyers
mhmﬂnulmmn-dtM' to the

() A of these

(%) None of these

One of the following is o trget growp for the |

marketing of eduwativoal loan.

(1) All the cumnmers

(2) Students

(3) Oaly paor smadenty

{4) Students  baving promesing educstional track
recard

T (5 Al of these

are providing piece of information -Hus

167,

m.

: m.
:

Corvice after sale i ned the function of —
(1) Markesing sl

(2) Sellgr : r -
(¥ Deirecior of the
Hlmihwﬂ-r

(4) The best ratio of bemefits 10 costs available 1o
EY -xl'l—m...-

A physical. concrete product you can foach is-
(ljaservee 3

2 a good
31 an wiva

(4) a comcapt
The markering h of
-Ht ay of thisking o 4

. Dyt

(2) most efforts of the v gancsatson

(3) sminly the efforts of sales pervosmel
{4) maindy Custimeis relatons

{51 Unly bl oresnismtices



(5) Focus oa Yoday

174, m‘ﬁhh-“ﬂlm

" 176 Al of the following sre marketing managerment tmks
EXCEPFT— ’ '

st iy s i e Emplsmeniation of the marketing

concept”?

(1) By siafying one segment in soclety, a firm
comiribsis 1o the dissatisfaction of other

sCEmenis.
12) Comsunsers do not understand what the marketing
Concepd I8

(3) Dealers do 0ot support the marketing concept
(4) A product may fit the neods 100 many segments
(5) Nooe of xse

(1) marketmng plasning

(2} orgamiring marketing activities

(1) co-ordinatng marketing activities

{4} praject development and sralysis kotak form
%) marketing conirod

Parenis Against Drusk Drivers is o groap that sets 1o
change sthtudes amdd lrws sbout driving wnder the
mfluency ol alsobol This group premanly markets
(1) goods

(2) e

(3} services

(4) political messages

(5) None of thesg

178, The masksting concept is o philosoplyy thal stases that

17,

We are prowvi

an organczation should try to satisfy Cussomers” noeds
and at the same mme

(1) imcresse market share

(2) incroase sales

13} scherve the orpanization poals

(4) abways prodisce hagh

(3) qualiry products
“mlmﬂu s current
cardholders 1 find out what, I-y*:“ they
would like 10 30c in the scrvices provided. The firm is
exhibiting charscteristics associated with which of the

following?
(1) production

iding piece of information

www.recruit ment.quru

180. Svmy = awning s Ceol Cam camera st irenagpers.

Teenagems ane song’s—
(1) sudicenw

(2) rarget andicnce

(4) target marker

(5) fosus group

. Easily relocatable language is ;-

(1) Machine language
(2) Assembly language

13) Lhigh level langusge
{4) Madiam bevel language

. 15) Noos of these

A compiler i & translating program which -

I,l]m-lﬂnnduﬂﬂﬁ-”ﬂ
mackne language

(2) Tramslates entire sousce program into machine
lasigaage e

(1) It s not involved @ progrm”s eueculmon

(4) Al of thess

{5) None of thess

AL CD-ROM s

{1} Semxconductos memory
(2) Memory register

(3) Magnetic memory
(4) All of these

(%) None of these

184, A name or sumber used 10 identify a storage kocasior

devicenT
(1) A byse

(2) A record
(3) An sddress
(i) All of these
(5) Nome of these

185, Which of the s
m lm“q

Just for reference.

(1) Keybound
{2) Disk
(ALY

(4) AN of thess
(5) None of dhewe

It may wary from Official o
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184 mm“_qru—q--u
l}'l‘q-:-r-‘ ;
L permancet (1) Perianenl, semporary
(3) Slow, fast (4) Al of these
(5) None of these
I¥7. The octal equivaleat of 111010 is :
(na @n
hn {4} All of these
(%) None of these
188, mhthhm-’
(1) UNIVAC
{2) EDVAC y
(3) ENLAC "
(4) AB of these
(3) None of Usess
199, An infegrated cirouit is ©
(1) A complicased circuit
(2} An integrating device \
3) Much costlier than & single transistor
(4) Fabracated on a tmy sihoon chip
(5) Nane of these
190, Most impoctant sdvastage of s IC s s -

(1) Easy replaceiient in case of cireuis failure -~ = t
{2) Extremmly high refibiliry i

(3) Reduced com

ti}l-mpnwm ;

(%) None of these - -
- 191 In the third gencration of computers:

[HWMMMM

(2) An operating wystem was first developed

{(3) High-level proeduTral langusges were firs used i

(4) On-line, real time sysscms first became popular

i v —

195, Which of the R don i
efficxn for a file with & high degree of file uﬁmfr

(1) Sequantial .

(%) Monae of these
192, A charscienstic of card systems is: *
(1) Slowness in processang dars
{21 Usang cards a1 recneds of transsctions
() Neading a larger DF staff
(4) All of these b s
{3) Nane of these Microprocessor does pot contasn 10
(L8 A}llthl computer did et score over an ﬂg (4) Exactly the saitic as ihe machine cycle time
Compuler in lerms of - - (5) None of these
(1) Speed - 200, The beast . which is
(2) Accurscy ~  equivalent & any odd decamal mamber. is
e | R
H‘ = o
{!'}Hnum‘tu T -'+ (5) Noae of these y %
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(4) Centificate of Deposit (CD)
{5) None of these

(B} Pnme Lending Rate
Which among the above are decided by Reserve

7
'[HN?T . {2) Only (B)
(3) Only (C) [ﬂﬂﬂﬁ{ﬂ]t{'ﬂ}
(5) None of these
Ii. Who among the following is the Biggest Borrower in
India?
(1) Indian Government
(2) Reserve Bank of India
{3) Indian Railways
~ (4) Siate Governmenis
~ (5) Public Sector Undertakings
. Which among the following would result in the fall in
assct prices”
(1) Low Liquidity in the Economy
~ (2) High Liquidity in the Economy
- (3} BBl increasing the Reverse Repo Rates
_ (4} RBI allows more banks 1o play :
_ (5) None of these

ides in the election organised in May 20127

{2) Rajasthan
{(4) Uttar Pradesh
+ India has commitied a $100-million line of credit to
which African country for upgrading its power sector
in June 20122/ L
() Koaya (2) Egypt.
are prow

h country elected Tomislav Nikolic as its new

WW

{SIMW
1. mthkhMufﬁﬂ
Petersburg  Declaration, adopted by 13 countrie
including India in 20107
(1) Security cooperation in Central Asia
(2) Joint action for conservation of tigers
ﬂ}mmufﬂlpm :
(4) Joint action for making life-saving drug
affordable
(5) International lﬁm W connect mumb-
countries
13, The Election Commission of - India lipd
Memorandum of Understanding with the Internation
Fomﬂmhw&m{m*}hw
and mm-ﬂm
in May 2012. IFES is based in:
(1) Oslo (2) Geneva
{3) London
(4) Brussels (5) Washington

u.wﬂnmqhﬂhﬁmwmdnhﬂm
Assistant Chicf of Naval Staff in June 20127
{1) D. K. Joshi (2) K.N. Sushil
(3) Anil Chopra (4]K+K.!'Hlllj*
(5) M. P. Muralidharan

15. Who smong the following was :lilh'llll with th
~South Asian Cinema Foundation's Excellence |
Cinema Award in London in May 20127
(3) G Kamid . - a(4) Soyems Bostpal

" ysm

(5) Buddhadeb Dasgupta

16. mm-ﬂidtuﬁﬂmﬂHMJ
shared by the Centre, the state government concerne
and the sponsor bank in the proportion of P

cent, _ percentand __ per cent, respectively
(1) 50, 35, 15 (2)%0,25,25 . ,°
(3) 40,35, 15 (4) 60, 20, 20
(5) 50, 15,35 : i
27. The Reserve Bank of India recently directed banks 1
reduce their pl:liu- exposure ceiling on 8 sing
NBFC, having to the extent of 50 per ces
or more of its total financial assets, to ____of the
capital funds.
(1) 15 per cent (2) 12.5 per cent
(3) 10 per cent (4) 7.5 per cent
(3) 5.0 per cent
28, Which recently announce

Organisation
-plans to set up 1000 ATMs and an eniry into th
banking sector 7

i)} BSE (2)LIC
.rmr-ﬂ,‘IBEHL b (4) Railways
(=] ance. It ma 3 rom i

iding piece of information djust for referenc
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9. What i the new rate of interest on Gioneral Provident |
©_ Fund (GPF) effective from April 1, 20137

() E2% (2) 84%
(3) 6% @ Rs%
(5)9.0%

3. Rating sagency DBRS stands for.

(4) Devolution Rond Raring Service:
~ {3) Developmeoni Banking Raring Sorvice
31, How mech was the lotal expenditare incurred under
the Mishatma Gandhi Nateonal Rural
Cuarsmize Act (MGNREGA) in 201 1-127
(1) Rs 730030 crom (2) Rs 1730030 evore
(3) Rs 27 300 %0 erare  {4) Re 37,303,230 crore
(5) Ka 47 30030 crowe |
3. The govemment sccepied most of the |
recommendations of the Ashok Chawls comminiee in
May 2012 The commnittee was set up for which of the

following? :

g:m“mhﬂLhﬂh
Productivity ‘" e

O35 Alonation, paieing. el ol OF Botiva

0 comnpanios m Specal Eoononuc Zaones !
(3) Compensation 1o b paid for states for revenoe
loss due to implemcatation of General Sales Tax
A}, Knshna Povesa is India’s marional record bolder m
whach sthletics event®

(1) shot pus () high jump
() tipd jump (4) discus throw |
(%) javelin throw

decuded 1o leave the village and meve 1p the ¢ity where

they were sure o make enough 1o feed evervane

are providing piece of information Hdust £

3. Who among the

() Joshna Chinappa
(4) Sarah Jane Peary
(%) Diipika Pallikal
35, Who amang the following was named
m Event Ambassador for the m;
Crickin Cosmedl * ' g
(1} Lasuth Malinga (2) Angeln Mathews
(1) Tiflakaratne Dulshan  (4) Kusnar Sangukikars
(5) Mahela Imawardene
following suctioned |
signed by Sachin Tendulkar in Mme ;.
stadiium i Rwands 7

(1) Tomy Blsir (2) John Major
() ot Howand oy Crordn Fireraen
(%) David Cameron

37, Prnce Sabman Bin Hamad al-Khalifa, who canse
India im May 20M2, is the Crown Prince of wha

mananchy?

(1) Qatar {2) Ownam
(3) Kuwait {4) Babeain
131 Ssadi Aruba .

M. Indra Nooyt is associatod with which of the follows
COmpasises”

0) Bocieg e
4
(5) Kmaft Faods @

3. Who among the following was recently appointed
u--wnﬁp--rh'r:ur |
(1) Sumil Chordia 123 Paabwal Khullar
() Rajrv Vastupal (4) Pankaj Chasdra
(5) Asbok Fsunbunwala '

4. Price of which of the following petroleum prodie
were revesed recenthy 7 1
(1) Petrol (2) Dicsel
(3] Kerosenn Cooking
(5) All the above - i




W Fecyirtmont O |

wenl 10 e river 10 feich water had & nice bhath. The
one who wem 80 gather wood for the fire went off 10
shoep bengath the orew. Amdd Mahadev only ondered
everyane shout, sl bothening to do anythmg himself.
Meanwhile the thicl had retumed 10 the troe. He |
noticed the family members were wd wrllmb
They would never be able w pot up o fight together.
Then, Mahades and ho wife started the conversation
mhm.mmhwum
raiscd his hands upwands snd sid “Don't worry. He is
watching all this from shove. Hie will help ™.

At this. the el jumped down from the troe, knife in

hand. Secang ham. everyons smried runsing beMer

skeher 10 save homacives. The tiel siobe everything.

“"“""""""""-’-"'.'-‘h e 10 the village

cinply-handed. having

they busd tabicn witl sem, S
41. Pﬂﬂhfﬁ-ﬂwhﬂhm

amuly 7

JAA} They repsevied and oheyed Mihir,
“I8) They weve so poor that they somethimes had o |
sLirve

tﬂMhth&vhhmm |

[
L0 P

(2) Omly (C)
31 Ouly (B) & (C) (4) Only (B)
b {s‘&;wmum e
Mihir and his fasmly decide o camp under
e “theel™s tree” 7 . -

(1) Being # 14rge famaly they knew they could canture |+

We are providing piece of information just for

43, Why did the

s covement spot o camp for the might

1t was the oaly trme large cnough o sbelier |

: wand 10 build 8 broes

o L
e .

o wﬂlﬁﬂ-m-_ﬂ“"‘”‘

(1) Secing Mibie's faith in God. e thicf was fil
‘with remorse.

46, What made the ' |
(1) He baed spotied the thief and wasted 10 fright
a:mu*.u-ﬁu‘ﬂnﬂnpunn-
L It was & warning 1o bis family members o st

m“'.- § 4 ] - r .
m wgﬁmq-_uhm

47. Which of the following is TRUE i the context of t
passage 7
1) Mabadew '

m _Mpuuu—nym.

mlﬂ‘llﬁpﬁdhhhﬁp s

no intention of movmng

(4) Mahaciey 100 e smtien Uk sevings o ehe thic?
robisad those wihom be did mot hke
(1) Tnphhihpﬁ'm

(2) He thought :

41 Mot

refereance. It may wary fr
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